

Kangpokpi, the 16th September, 2021

No.5/8/2017/DFO-Kpi/ 162, : - In accordance to powers conferred u/S 56 of IFA,1927 the following seized/confiscated forests produce in connection with POR/KPK/2021/7516,/7517,/7518, /7520,/7521,/7522, /7523, /7524, /7525, /7526, /7528, /7529 of 2020-2021 dated 14th July,2021, of Kangpokpi Range Office and Confiscation order No.6/22/2019/DFO-Kpi/141, dated 3rd September,2021 of Office of the Divisional Forest Officer, Kangpokpi Forests Division, Government of Manipur, in the court of the authorized officer, Kangpokpi Forest Division, which are government properties, an e-auction was conducted on 16th September ,2021 at 11:30 AM for timber logs 66 (sixty six) nos. -49 nos. (forty nine) of Ucham (Artocarpus chaplasha), 8 nos. (eight) of Usoi (Schima wallichii), 5 nos. (five) of Pareng (Alnus nepalensis) and 4 nos. (four) of Heirikokthong (Artocarpus lakoocha) with total volume of 1843.45 Cft (52.20 cum) lying in 12 (twelve) lots. However, the Auction Committee found the result unsatisfactory. In this regard, a fresh e-auction is called for the same lots of timbers as mentioned above. Intending bidders may apply for the e-auction on the Forest Department's portal forest.manipurforest.gov.in from 16th September, 2021 to 21st September, 2021 (6:00 PM). The e-auction shall be opened on 22nd September, 2021 at 11:30 AM. Abstract of the lots, Floor Price/Upset Price and Earnest Money Deposit of the sawn timbers are enclosed in Annexure-I

Terms and Conditions

- 1. Intending Registered Forest Contractors/ HPC cleared Sawmills/Wood based Units/Individuals may register and apply for the e-auction on the Forest Department's portal **forest.manipurforest.gov.in** from 16th September, 2021 to 21st September, 2021 (6:00 PM). Bids after the due date shall not be accepted.
- 2. Intending bidders may inspect the timbers and get satisfied themselves of the quality and quantity of the timber before joining the e-auction. No complaint on the quality and quantity of the timber after the auction sale will be entertained.
- 3. The intending bidders shall deposit 5% of the floor price as Earnest Money Deposit, as shown in **Annexure-I**, in the form of D-at-Call/Banker's cheque/cash for the lots he intends to apply to be drawn in favour of the Divisional Forest Officer, Kangpokpi from any Scheduled Bank.
- 4. The rates should be offered for an entire Lot and no part of a lot can be bid separately. A bidder can apply for all the lots, but separate bids should be offered for each lot.
- The auction shall be opened and compiled by a Committee constituted by the Divisional Forests Officer/ Kangpokpi Forest Division and in presence of the bidders or his authorized person, if any, on 22nd September ,2021 at 11:30 AM at Kangpokpi Forest Division Office, Kangpokpi, Manipur.
- 6. The timber shall be for consumption within the State of Manipur only. If the successful bidder intends to transport the timbers outside the State, but within the North-East, he shall obtain special permission from the State Government and pay outside TP fee and other charges as per the Rules.
- 7. The Earnest Money Deposit will be refunded to all bidders after the finalization of the auction sale or shall be forfeited in case of violation of terms and conditions of the auction sale.
- 8. Auction once bidded cannot be withdrawn. In case of withdrawal, the Earnest Money Deposit will be forfeited.
- 9. Successful bidders should deposit the bid amount along with applicable GST within 10 (Ten) days of the approval of rate/ bid value by the competent authority, failing which, the Earnest Money Deposit will be forfeited to the Government and next highest bidder shall be considered.
- 10. The Divisional Forest Officer, Kangpokpi Forest Division reserves the rights not to accept or reject any bid without assigning any reason thereof.

C. de | 2021

11. Should any dispute arise, the decision of the Principal Chief Conservator of Forests & HoFF, Manipur shall be final and binding to all the parties.

Sd/-(Chinpilhing Kipgen) Divisional Forest Officer Kangpokpi Forest Division Government of Manipur

Kangpokpi, the 16th September, 2021

Mamp No.5/8/2017/050 Kpi/162

- The Principal Chief Conservator of Forests & HoFF, Government of Manipur

- 2. The Chief Conservator of Forests/TP-I, Government of Manipur.
- 3. The Conservator of Forests/Northern Circle, Government of Manipur.
- 4. The Range Forests Officer, Kangpokpi Range for wide circulation of the notice.
- 5. The notice board of Kangpokpi Forest Division/Forest Head Office, Sanjenthong.

6. Guard File

(Chinpilhing Kipgen)
Divisional Forest Officer
Kangpokpi Forest Division
Government of Manipur



Vide sale of 66 (sixty six) no. of timber logs: E-Auction Notice No.5/8/2017/DFO-Kpi/ I6 2, dated Kangpokpi, 16th September, 2021.

I. Name o	i the blade	er :			••••••	
2. Father's	Name :					
3. Address	:				·····	
4. P.O :						
5. P.S. :						
6. District	& Pin-code	2:				
7. Mobile	No. (Work	ing):				
8. Name o	f Firm & R	egd. No				
9. Details o	of D-call/ E	Bank's Cheque :				
i) D-at-Call	/ Bank's C	Cheque/Cash:				
ii) Drawee	Bank:					
iii) Amoun	t:					
	SI. No	Lot No.	B Class	C Class	Total]
			(in Rupees)	(in Rupees)	(in Rupees)	
						-
			•••••		agree to abide by	the terms a
conditions	or the aud	ction.				
Place :						
Date :						
				(Sig	nature of the hide	der)

C. higger 16/02/2021

ANNEXURE-I

Abstract of Lots, Floor Price and Earnest Money for e-auction sale of 66 (sixty six) pieces of seized and confiscated timber logs (e-Auction Notice of Kangpokpi Forest Division)

	T			(e-Auction N	lotice of Kang	pokpi Fores	t Division)						
SI. No.	Lot No.	Truck No.	Total No. of logs	Total Volume (cft)	Class of Timber								Total Floor price excluding	E.M. to be deposited 5% of Total floor
	140.	NO.			B-Class			C-Class			GST (Col. 9+13)	price (Col-14)		
					No. of logs	Volume (in cft)	Rate (cft)	Total (in rupees)	No. of logs	Volume (in cft)	Rate (cft)	Total (in rupees)	9713)	price (001-14)
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15
1	1	MN03T- 5735	6	152.88	nil	nil	160	nil	6	152.88	150	22,932	22,932	1147
2	2	MN04A- 6692	7	133.25	1	13.8	160	2208	6	119.45	150	17,918	20,126	1007
3	3	MN05- 2437	6	73.25	2	13.14	160	2103	4	60.11	150	9,017	11,120	556
4	4	MN01- 5092	6	186.08	2	77.43	160	12389	4	108.65	150	16,298	28,687	1435
5	5	MN01- 7283	4	111.1	2	46.24	160	7399	2	64.86	150	9,729	17,128	857
6	6	MN01- 6012	3	136.33	1	90	160	14400	2	46.33	150	6,950	21,350	1068
7	7	MN01- 8508	3	123.57	1	50.62	160	8100	2	72.95	150	10,943	19,043	953
8	8	MN03T- 1565	6	189.61	2	72.05	160	11528	4	117.56	150	17,634	29,162	1459
9	9	MN01- 3737	6	203.52	1	15.87	160	2540	5	187.65	150	28,148	30,688	1535
10	10	MN01- 7172	6	159.17	2	58.68	160	9389	4	100.49	150	15,074	24,463	1224
11	11	MN01- 8093	6	194.96	2	54.46	160	8714	4	140.5	150	21,075	29,789	1490
12	12	MN06T- 0295	7	170.73	1	34.32	160	5492	6	136.41	150	20,462	25,954	1298
	Total:		66	1834.5	17	526.61		84262	49	1307.8		1,96,176	2,80,438	14,029

